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12.4 & 12.7 Review

Given the data sets, identify them as symmetrical, positive or negative. Then, use either the mean and standard
deviation or the five-number summary.
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The data given is a 6-year span of OEHS camposite (Reading & Mathematics) score of students who meet and exceed
state standards.

\CEI& 2010 | 2011 | 2012 | 2013 | 2014 | 2015

% 52 54 55 60 58 58

4) What are the mean, median, mode, range & standard deviation of students who meet or exceed?
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5} Multiply the students who meet and exceed by 1.05. Find the mean, median, mode, range & standard deviation.
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6) Add 1.25% to students who meet and exceed. Find the mean, median, mode, range & standard deviation.
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7) A bag contains 12 marbles. Three are green, two are blue, 6 are yellow and 1 is red. Diana chooses one marble,
records the color, and places it back into the bag. She then chooses another marble. Find the probability that Diana
chooses a green marble each time. 5,28,CY 1K
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8) Three cards are drawn randomly from a standard deck of cards and not replaced. Find each probability if the cards are
drawn in the order indicated. -
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9) Brad has 25 CDs. Eight are rock, eight are jazz, two are rap and seven are classical. He chooses one CD at random. Find

each probability.
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10) There are 26 students in Mr. Collins’ English class. Twelve are seniors and fourteen are juniors. Eight of the seniors
are b(_\:s and six of the juniors are boys. What is the probability that a randomly selected student is a boy or a senior?
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11) What is the probability of randomly selecting a state that begins or ends with an ‘A?’/u
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